








THIS PRODUCT IS
INTENDED FOR USE
BY CHILDREN FROM

AGES 2-10 YEARS

For Home / Residential
Use ONLY

1212 Barberry Drive
Janesville, WI 53545

1-800-888-1232
www.swing-n-slide.com

R













Use a 2"
lag screw
to hold
bracket
in place
for later use.

Look for “TOP”
stamp on
brackets

while installing.

TOP

GAP
on
this
side

























•  3/8" drill location

41-3/4"

A
dd an accessory here.

C
antilever

(D
isc S

w
ing)

102-1/4"

96-3/4"

86-1/4"

51-1/2"

10-1/2"

11-1/2"

11-1/2"

3-1/2"

15-1/4"

16"

16"

16"

70-1/4"

58-3/4"

42-3/4"

30-1/4"

15-1/4"

144"



(4) 1-1/4'' screws

Swing Hanger

Use Screwdriver to aid in tightening

Bottom Beam Clamp

T-nut

Hammer

3/8'' hole





Cantilever beam







Washer
3/4"

Pan head
screw

(3 per side)



14-7/8"

(Left Side)
2'' x 4'' x 62-1/2''

(Right Side)
2'' x 4'' x 62-1/2''

ladder rungs

ladder rungs

ladder rungs

ladder rungs

23-1/4"

2-3/4"

14-7/8"

27"

39-1/8"

16-1/2"

28-5/8"

40-3/4"

4-3/8"

44"

2-3/4"

27"

39-1/8"

28-5/8"

40-3/4"

4-3/8"

44"

16-1/2"

• BOTTOM OF LADDER RAIL • 

Top Corner of 2'' x 4''

Bottom Corner of 2'' x 4''

2- 3/4''
From Bottom

(6)
1-1/4'' 
screws

EXAMPLE OF LADDER RUNG INSTALLATION

STEP BR
AC

KET 





x2 Per Swing 





'

Fig. 4

1"

1"



'

















THIS PRODUCT IS
INTENDED FOR USE
BY CHILDREN FROM

AGES 2-10 YEARS

For Home / Residential
Use ONLY

1212 Barberry Drive
Janesville, WI 53545

1-800-888-1232
www.swing-n-slide.com

R





(5) 2 x 4 x 96 po (5,1 x 10,2 x 243,8 cm)
(3) 2 x 4 x 120 po (5,1 x 10,2 x 304,8 cm)

(8) 5/4 x 6 x 120 po (3,2 x 15,2 x 304,8 cm)
(3) 5/4 x 6 x 144 po (3,2 x 15,2 x 385,8,8 cm)

(8) 4 x 4 x 96 po (10,2 x 10,2 x 243,8 cm)
(1) 4 x 4 x 120 po (10,2 x 10,2 x 304,8 cm)
(1) 4 x 6 x 144 po (10,2 x 15,2 x 365,8 cm)

ou
(2) 2 x 6 x 144 po (5,1 x 15,2 x 365,8 cm)

ÉCHELLE EN OPTION
(3) 2 x 4 x 120 po (5,1 x 10,2 x 243,8 cm) 

(2) 2 x 4 x 96 po (5,1 x 10,2 x 243,8 cm)

(1) 2 x 4 x 96 po (5,1 x 10,2 x 243,8 cm)

(1) 2 x 4 x 96 po (5,1 x 10,2 x 243,8 cm)

(1) 2 x 4 x 96 po (5,1 x 10,2 x 243,8 cm)

(3) 2 x 4 x 120 po (5,1 x 10,2 x 243,8 cm) 

16 po 16 po 12 po 12 po

43 po (109,2 cm)

43 po (109,2 cm) 43 po (109,2 cm)

43 po (109,2 cm)

Utilisez la Connecteurs EZ Frame comme
guide pour couper votre bois de charpente. 

43 po (109,2 cm)

45 po (114,3 cm)

55 po (139,7 cm)

55 po (139,7 cm)

55 po (139,7 cm)

55 po (139,7 cm)

55 po (139,7 cm)

20-1/4 po 20-1/4 po 23-1/4 po 

20-1/4 po 

36 po (91,4 cm)

36 po (91,4 cm)

36 po (91,4 cm) 30 po (76,2 cm)

48 po (121,9 cm)

48 po (121,9 cm)

72 po (182,9 cm)

47-1/2 po (120,7 cm)

30 po (76,2 cm)30 po (76,2 cm)30 po (76,2 cm)

35-1/2 po (90,2 cm)

29-3/4 po (75,6 cm) 29-3/4 po (75,6 cm)

144 po (365,8 cm)

62-1/2 po (158,8 cm)

43 po (109,2 cm)

(2) 5/4 x 6 x 120 po (3,2 x 15,2 x 304,8 cm)

(2) 5/4 x 6 x 120 po (3,2 x 15,2 x 304,8 cm)

(1) 5/4 x 6 x 120 po (3,2 x 15,2 x 304,8 cm)

(3) 5/4 x 6 x 120 po (3,2 x 15,2 x 304,8 cm)

(3) 5/4 x 6 x 144 po (3,2 x 15,2 x 385,8,8 cm)

(2) 2 x 4 x 96 po (5,1 x 10,2 x 243,8 cm)

(6) 4 x 4 x 96 po (10,2 x 10,2 x 243,8 cm)
96 po (243,8 cm)

(1) 4 x 4 x 120 po (10,2 x 10,2 x 304,8 cm)

(1) 4 x 6 x 144 po (10,2 x 15,2 x 365,8 cm) ou (2) 2 x 6 x 144 po (5,1 x 10,2 x 365,8 cm) 

(1) 2 x 4 x 96 po (5,1 x 10,2 x 243,8 cm)

(2) 2 x 4 x 96 po (5,1 x 10,2 x 243,8 cm)

ÉCHELLE EN OPTION









3/4 po
(1,9 cm)

3/4 po
(1,9 cm)

TOP(HAUT)

(5,1 cm)

(5,1 cm)

























Ubicación de las perforaciones de 3/8 po (1 cm)
Emplacement des trous de 3/8 po (1 cm)

Viga voladiza
C

onsole

102-1/4 po
(259,7 cm)5-1/2 po

(14 cm)

10-1/2 po
(26,7 cm)

11-1/2 po
(29,2 cm)

11-1/2 po
(29,2 cm)

16 po
(40,6 cm)

16 po
(40,6 cm)

16 po
(40,6 cm)

desde aquí
à partir d'ici

15-1/4 po
(38,7 cm)

15-1/4 po
(38,7 cm)

3-1/2 po
(8,9 cm)juego/jeu

41-3/4 po (106 cm
)

144 po (365,8 cm
)

Agregue un accesorio aquí.
(C

olum
pio redondo, colum

pio de llantra)

Ajouter l'ccessoire volulu ice,
(Balançoire disque)

96-3/4 po
(245,7 cm)

86-1/4 po
(219,1 cm)

70-1/4 po
(178,4 cm)

58-3/4 po
(149,2 cm)

42-3/4 po
(108,6 cm)

31-1/4 po
(79,4 cm)



(4) Tornillos de 1-1/4 po
 (31,8 mm)
Quatre (4) vis
 de 1-1/4 po
 (31,8 mm)

Colgadero del columpio Crochet de suspension de balançoire

Use el destornillador para ajustar
Utilisez un tournevis pour mieux serrer

Abrazadera de la viga inferior
Attache de base de poutre

Tuerca en T

Martillo
Marteau

Orificio
de 3/8 po
(9,5 mm)
Trou de
3/8 po
(9,5 mm)

Écrou en T encastré





Cantilever beam







Vis a tête cylindrique
bombée 3/4 po

(19 mm)



• PARTE INFERIOR DEL RIEL DE LA ESCALERA •
• BASE DU MONTANT DE L'ÉCHELLE •

EJEMPLO DE INSTALACIÓN DE LOS PELDAÑOS DE LA ESCALERA
EXEMPLE D'INSTALLATION DES BARREAUX DE L'ÉCHELLE

Esquina inferior de 2 x 4 po (5,1 x 10,2 cm)
Coin inférieur du 2 x 4 po (5,1 x 10,2 cm)

2-3/4 po (7 cm)
desde la parte inferior

2-3/4 po (7 cm) 
à partir du bas

(6) Tornillos de
1-1/4 po (31,8 mm)

(6) Vis de 
1-1/4 po (31,8 mm)

ABRAZADERA DE LA GRADA
FIXATION DE LA MARCHE

Esquina superior de 2 x 4 po (5,1 x 10,2 cm)
Coin supérieur du 2 x 4 po (5,1 x 10,2 cm)

40-3/4 po
(103,5 cm)

16-1/2 po
(41,9 cm)

4-3/8 po
(11,1 cm)

2-3/4 po
(7 cm)

(3) Tornillos de 1-1/4 po (3,2 cm)
(3) Vis de 1-1/4 po (3,2 c mm) 

44 po
(111,8 cm)

28-5/8 po
(72,7 cm)

27 po
(68,6 cm)

39-1/8 po
(99,4 cm)

(Lado izquierdo)
(Côté gauche)

2 x 4 x 48-5/8 po
(51 x 102 x 1236 mm)

(Frente)
(Avant)

 

(4) 2 x 4 x 20-1/4 po
(5,1 x 10,2 x 51,4 cm) 

14-7/8 po
(37,8 cm)

4-3/8 po
(11,1 cm)

2-3/4 po
(7 cm)

(3) Tornillos de 1-1/4 po (3,2 cm)
(3) Vis de 1-1/4 po (3,2 cm)

(Lado derecho)
(Côté droit)
2 x 4 x 48-5/8 po

(5,1 x 10,2 x 123,6 cm)

 

(4) 2 x 4 x 20-1/4 po
(5,1 x 10,2 x 51,4 cm) 

23-1/4 po
(59,1 cm)

2 x 4 x 23-1/4 po
(5,1 x 10,2 x 59,1 cm)

2 x 4 x 23-1/4 po
(5,1 x 10,2 x 59,1 cm)

Peldaños de la escalera
Échelon d’échelle
2 x 4 x 23-1/4 po

(5,1 x 10,2 x 59,1 cm)

39-1/8 po
(99,4 cm)

14-7/8 po
(37,8 cm)

44 po
(111,8 cm)

40-3/4 po
(103,5 cm)

28-5/8 po
(72,7 cm)

16-1/2 po
(41,9 cm)

27 po
(68,6 cm)









Fig. 4 






